C. Y. Yeung (AL Chemistry)

F7 Revision Exercise (Acid-Base Equilibria 1)
Name: _________________
Class: ________ (   )

Date: __________

1.
The degree of dissociation of 0.010M HX solution is 4.0% at 298K.


(a)
Calculate the dissociation constant of HX at 298K.


(b)
Calculate the degree of dissociation of 0.10M HX at 298K.


(c)
Calculate the pH of 0.10M HX at 298K.


(d)
When 100cm3 of 0.10M HX is mixed with 100cm3 0.04M NaOH solution, what is the 
final pH of the resulting solution?
2.
At constant temperature, what will be happened to the following when the concentration of ethanoic acid is decreased? Explain your answer.


(a)
dissociation constant (Ka)


(b)
degree of dissociation


(c)
pH
3.
A buffer solution was prepared by mixing ethanoic acid and sodium ethanoate solutions.


(a)
If the pH of this buffer solution is 4.90, what is the molar ratio of sodium ethanoate 
and ethanoic acid?


(b)
When 1.0(10-3 mol of HCl is added to 100cm3 of this buffer solution, the resulting pH 
is 4.80. Calculate the concentration of ethanoic acid and sodium ethanoate 
respectively.



(Assuming that the volume of buffer solution does not change.)


(Given: Ka of ethanoic acid = 1.80(10-5 mol dm-3)
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